CR Y LTSAFN2TIL—3 (513—1Lv)
Mﬁm@mmﬂ@mﬁ [LSx] FEE =1/2383 FEZ =90.0%(ST=84) EBHMH =-ST & /0/84 @ EIk =383&10&14

- EEE /0/84 1

WS R A AR - (A R] #1477 [ASX] ®EHR =1/77.7 ®EZE =75.0%(ST=20) EHHR=-ST & /0/70 [ EIk=383&10&10
EEE /070 B

WIREAE)—--8(H T

BRI - BF a— e

W57 FEEE .- B0

W/ 0.3
WEE--HiTH
)

ODO
U‘b o ogoooog%oo o s [ /
RO 0 > ilil =
Q [MAX HHE]

CRAR=THE>
[LSX](M {E !EIC)

g -y gggggo 461@
(8EBES—V] 1122 I
<HSEBREER= 5 E> (ASXJI0 B0 o @

- BR--- 504‘{@
- 1B6R---1,008 {&

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




